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PART A — (10 x 2 = 20 marks)

Mention few applications of work study.
Define SIMO chart.
List any four information required for process planning.
What are the advantages of manual process planning?
- What do you mean by multiple cost method?
Define costing.
What do you mean by a realistic estimate?

Define parametric estimating.
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State any four pattern allowances.

PART B — (5 x 16 = 80 marks)

11. (a) @) What are the objectives of work measurement? Explain.

(1) Write the procedure of method study.

Or

(b) (i) What is the purpose of the study of ergonomics? Explain.

(1) What is multiple activity chart? State its purpose.

What are the various elements considered while calculating the cost of a
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(1)  What are the factors that influence process planning? Discuss. (8)
(i)  List out the benefits of CAPP systems. (8)
Or

Describe the various types of charts and diagrams used in process
planning. (16)

Name the various elements of cost. Explain each element in detail giving
suitable examples. (16)

Or

A factory has 15 lathes of same make and capacity and 5 shapers of same
make and capacity. Lathes occupy 30m2 area while shapers occupy 15m?2.
During one calender year, factory expenses for this section area are as
follows:

Rs.
@) Building rent and depreciation 5,OOOY
@i1)) Indirect labour and material 15,000
(i) Insurance 2,000
(iv) Depreciation charges of lathes 5,000
(v) Depreciation charges of shapers 3,000
(vi) Power consumption for the lathes 2,000

(vii) Power consumption for the shapers 1,000

Find out the machine hour rate for lathes and shapers work for

25000 hrs and 8000 hrs respectively. (16)

Discuss the various components of a job estimate. A (16)
Or

Explain the procedure followed for estimating the cost of an industrial

product. (16)

Describe the compare the various methods of allocation of overhead

expenses. ' ‘ (16)
Or

What will be the machine time required to rough bore, to second bore and
to finish bore a soft cast iron cylinder whole diameter is 220 mm and the
length of bore in 260 mm.

(1) Rough bore 39 r.pm. 2.857 mm feed
(i) Second rough bore 45 r.p.m , 0.987 mm feed.
(iii) Finish bore 25 r.p.m, 5.75 mm feed.
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